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3 BRIV AROEDE mg/l | 0.003LLT || 0.0003K¥H 0.0003 i . 0.0003 435 - 0.0003 i . 0.0003R7#5 | 0.0003i#5 | 0.00031H;
4 KR VZEOLEY mg/t | 0.0005LLF || 0.000055K5H; = 0.00005 1% = = 0.00005K1% = = 0.00005 1% = - 0.000052R1if5 | 0.00005K:75 | 0.00005F i =
5 |V RUFEOILEY mg/| 0.0184F || 0.0011 - 0.001 il = 0.001 K15 0.001 K5 0.001R7% | 0.001K% | 0.001%7 - =
6 |BhRUZEDOILEY mg/| 0.0154T || 0.001K0 = 0.001 K5 0.00 LA = 0.001 i 0.001K7#% | 0.001K% | 0.001%iH
7 |eERCGEDAEY meg/| 0.01L4F || 0.001K7H = = 0.0017il5 = 0.001 AT - 0.001 Vi - 0.001K7% | 0.001K7 | 0.001KRiH =
8 |Xitiznsiba mg/| 0.02LLF || 0.0025KiH - 0.002:K i - 0.0025 1 = 0.0021#% = 0.002:%7 | 0.0025R%% | 0.0027K7H
9 |EHBEAREESR mg/] 0.04LLF || 0.0045RiH - - 0,004 = 0.004:15 0.00477 = 0.0042Ki# | 0.004Ki% | 0.0041H -
10 | 7AeAA4y RO 7 mg/ 0.01LLTF || 0.001Ki# - - 0.001 A5 = 0.001 A1 = = 0.0013K - 0.0012K¥ | 0.001A%m | 0.001iH ~
11 |EEEER KO EHEBEEER mg/1 10LA T 0.5 0.4 - - 0.7 0.3 - 0.7 0.3 0.5 -
12 |7y RUEDLEY mg/1 0.8LATF 0,08 = - 0.08K 1 = = 0.08K 1 = - 0.08K 1 = 0.08k 1% 0.085 7% 0,081 = =
13 |FUERCEOEY mg/1 LOBLF 0. 1K i - 0. 1541 0. 11 - 0. 1K - 0. 1K1 0. 1K1 0. 1T =
14 (k= mg/l | 0.002LLF || 0.00027K1# - - 0.000241 N - 0.00021r - - 0.00024:1% - - 0.0002R7# | 0.00027%% | 0.000274% - -
15 |L,4-UAFHy mg/1 0.0584F || 0.0057Ri% - 0.005K:1# - 0.005K1i - 0.005 K1 - 0.0052R%% | 0.0055K% | 0.0057K7H >
16 |rr-te-vropxsr gotiya-evranxsiy | mg/l 0.04LLF || 0.004K7 = e 0.004 77 = 0.004 31 = - 0.004K 7% - - 0.0045K%% | 0.0045K%5 | 0.00474 i = -
[ P2/4= =P mg/1 0.02L4F || 0.0027k¥# 0.002K:1 - 0.002K: 15 - 0.002K i = 0.002:7% | 0.002K¥M | 0.002K0H
= FrSrapxFL mg/I 0.01L4F || 0.00057% = = 0.0005 1% = - 0.00057K i - = 0.00055%: ¥ = - 0.0005K7 | 0.000540# | 0.000551H = =
19 |NzarzFLy mg/1 0.01LLTF || 0.001KiH 0.001 K1 0.001 K54 - 0.001 K3 ~ 0.001KM#% | 0.001FK% | 0.001FiH
20 |~Br mg/ 0.01LLTF || 0.001iM = - 0.001K7% = = 0.001R 1% — - 0.001K1% -~ - 0.001R% | 0.001K4% | 0.001K 5 -
21 |HEFRE mg/1 0.6LLF 0.06 1 0.06K: fi 0.14 - 0.06K:1 - 0.14 0.06RT = -
22 |y/moEEs mg/ 0.02L4F || 0.00257 = - 0.00257# = = 0.0022K1#5 = - 0.002:1#5 = ~ 0.002K%% | 0.002K0% | 0.0027Ki# —
23 |raodis mg/1 0.06LLT || 0.0063m - 0.008 0.009 - 0.006K1i5 - 0.009 0.0064 = - -
24 |Prnugksg mg/1 0.03LLF || 0.003%7 > - 0.003 45 - = 0.0034: 1 = - 0.003:1# - - 0.0032Ri% | 0.003K¥E | 0.003%M -
25 |CT7mEsunAL mg/| 0.1LLF 0.01K1% - 0.01KTH - - 0.01 A7 - - 0.0 14T 0.012K1#% 0.01K3 0.017H% - -
26 |RFEEE mg/1 0.01LAF || 0.001K% = - 0.001 1 = = 0.001 A5 = = 0.00 LT - — 0.001% | 0.001K¥ | 0.0015Km = =
27 [N oAz mg/I 0.1LLF 0.0 1415 0.01 A4 - - 0.01 - - 0.01 7% 0.01 0.01KR{ - = =
28  |RUU ok mg/1 0.03LLF || 0.00374% - - 0.007 - ~ 0.008 - 0.003K1 - = 0.008 0.003 1 = =
29 |ToEdruniys mg/1 0.03LAF || 0.00377H 0.0035K1# = = 0.0035K % - = 0.003K4 - 0.003K% | 0.003K%% | 0.003FiH =
30 |7 aERLA mg/ 0.09LLF || 0.0091H - - 0.009 A1 = ~ 0.009: 0.009#% - = 0.009K¥% | 0.009K7 | 0.009KiH - -
31 |HAaTATeR mg/ 0.08LLTF || 0.0087 - - 0.0081% - - 0.008K7i% - - 0.008K 1 = - 0.0084+%% | 0.008i | 0.008FiH;
32 |EHEOEDLEY mg/1 LOBAF 0.01 A7 = = 0.01K7% = - 0.03 - 0.01K%#% - 0.03 0.015K 7 = = =
33 |FAI= AR UFEDOILEY mg/| 0.2BLF 0.03 - 0.03 - - 0.03 - - 0.04 - - 0.04 0.03 0.03 -
34 BB OFOEY mg/I 0.30LF 0.035 % = - 0.03 0.04 - 0.03K7 0.04 0.034:4i5 = = =
35 AR OZEDILEY mg/1 LOBAT 0.022K 1% 0.0244 = - 0.02%7i5 - - 0.02K:7% - = 0.025R 1 0.025K 1% 0.022K 1% -
_— FRIT AR DS mg/ 200LL 3.1 - - 3.1 B - 3.3 - - 2.9 - E 3.3 2.9 3.1 - -
3 | T RUEDLEY mg/1 0.05LAF || 0.005 1 0.005K:{i — 0.005:4K1# - — 0.005K4i = = 0.005K7% | 0.0055%% | 0.0053K{H =
38 EiA4 mg/l 2004 F 2.2 2.3 2.6 2.3 2.6 2.7 2.6 3.5 3.0 2.1 2.2 2.3 3.5 2.1 2.5 - =
39 WAL, I RN (FREE) mg/1 30084 T 15 - 14 - - 14 - 16 - - 16 14 15 -
40 |ERBEAY mg/1 50080 T 42 - - 53 - - 60 - 39 - 60 39 49 - -
41 (RaAA RmiE R mg/! 0.2BLF 0.02K 1 = 0.02K: 1 = - 0.02R 1 = 0.021#% - - 0.02K1# 0.02K 1 0.0251% -
42 |\P=ARAI mg/l  ]0.00001L4 F|| 0.000001 77 - 0.000001 7% | 0.000001 >R | 0.000001 K7 | 0.0000015i% | 0.000001K 1 - ~ 0.000001 78 - = 0.0000015&3%) 0.000001 31| 0.000001 A5 | = =
43 |2-AF VA VRN FA I mg/1  ]0.00001L4 F|| 0.000001 A - 0.0000015R{# | 0.000001 R | 0.000001 K1 | 0.00000157H | 0.000001 A4 - - 0.000001 k7% 0.00000153#% | 0.0000015¥| 0.000001 < -
44 FEAA L RETEMHF mg/1 0.02LLTF || 0.0027i% - 0.002:4#% - - 0.0023K 5 - 0.0022R 1% = - 0.0025R¥% | 0.002R¥%E | 0.0025K - ~
45 |7=/—NE mg/l | 0.005LAF || 0.000557H = . 0.000577% 0.00055 1% - 2= 0.0005 - - 0.00054%% | 0.0005-K# | 0.00054Ki% -
46 |FH (S FBRFE (TOC) D E) mg/1 3T 0.3 0.3 0.3R% 0.5 0.3 0.3 0.4 0.35K7% 0.3 0.3 0.3 0.3 0.5 0.3 = = -
47 |pHIE ~ 5.884 |- +8.650 T 7.2 7.2 7.3 7.2 7.3 7.3 7.2 7.2 7.2 7.1 7.1 7.2 7.3 7.1 7.2 - -
48 |Bk REcneony|  BERL HERL BEL BERL HERL BEiL REL BERL BERL BEiaL BEHEL Bl ~ - =
49 |BR= = RETwery  RERL BEL RERL BEiL HERL BEiL RELL Bl Bl RERL BERL RERL - - - - -
50 |&E B |suTFchay| 0.5k 0.5 0.5 0.5 i 0.5 0.5 0.57R74 0.5 0.5 i 0.5K7i% 0.5:1 0.5 0.5 0.5
51 |&EE B |auTenssy| 0.1k 0. 1KTH 0.1 0. LT 0. 1AM 0. 17 0. 1A 0. 1K 0. 1A 7 0. 1AK% 0. 141 0.1 0.1 0. 1R = = =
— | RAKBEREEECEENARVER
— kiR T 10.5 14.5 17.9 18.7 23.6 21.9 17.6 13.4 11.0 4.9 6.3 8.4 23.6 4.9 14.1
— |%iE C - 13.5 19.1 25.0 20,0 32.0 27.0 18.9 11.7 9.9 5.9 0.8 10.0 32.0 0.8 16.2 - -
— |BERE%E mg/| - 0.3 0.3 0.2 0.3 0.1 0.2 0.2 0.8 0.6 0.3 0.1 0.2 0.8 0.1 0.3 - -
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